Приложение 2
Найти соответствие между решением и ответом:
	задание
	Неверный ответ

	1. x =  (-1) arcsinα + πn, nZ
	sinx = 0


	2. x  =  arctgα +πn, nz
	sinx = -1


	3. 
x =  arcсosα+2πn, nz
	соsx = 0

	4. x = π +2πn, nz
	cosx = -1

	5. 
x  = +2πn, nz	
	sinx = а


	6.   x=  πn,   nz

	соsx = 1


	7.     x = 2πn, nz

	sinx = 1


	
8.     x = -  +2πn, nz
	tgх = а

	
9.     x =  +πn,   nz
	соsx = a



	задание
	Неверный ответ

	1. x =  (-1) arcsinα + πn, nZ
	sinx = 0


	2. x  =  arctgα +πn, nz
	sinx = -1


	3. 
x =  arcсosα+2πn, nz
	соsx = 0

	4. x = π +2πn, nz
	cosx = -1

	5. 
x  = +2πn, nz	
	sinx = а


	6.   x=  πn,   nz

	соsx = 1


	7.     x = 2πn, nz

	sinx = 1


	
8.     x = -  +2πn, nz
	tgх = а

	
9.     x =  +πn,   nz
	соsx = a

























Найти соответствие между решением и ответом:
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